
CLASS – III MATHS 

Chapter – 2  Fun with Numbers 

Radhika, Gauri, Vicky, Indra and Sunil were collecting Imli (tamarind) seeds. 

 

 

 

 

 

1. …………………….collected the most seeds. 

2. Sunil will collect ……………  more seeds to be equal to Vicky. 

3.  If Radhika gets 6 more seeds, she will have …………………. 

4. How many children have more than 40 seeds? ……………… 

5.  ……………………………………needs 3 more seeds to have 50. 

6. Sunil has 2 seeds less than 40 and …………………………..  has 2 seeds more than 

40. 

Fill in the blanks: 

Dhoni scored  96 +  =  runs. 

How many runs do these players need to complete a century? 

 Player Score runs Runs needed 
to complete 
century 

Player-1 
Player-2 
Player-3 
Player-4 
Player-5 

 93 
 97 
 89 
 76 
 91 

………… 
………… 
………… 
………… 
………… 

 

Children’s name  No. of seeds 

Radhika 
Gauri 
Vicky 
Indra 
Sunil 

 24 
 47 
 42 
 54 
 38 



Skip counting 

Jump 2 steps forward: 

104, 106, 108,…….. ,…………. ,……… , …………….. 

Jump 2 steps backward: 

262, 260, 258,……….. ,…………. ,……….. , ………….. 

Jump 10 steps forward: 

110, 120, 130,……….. ,……….. ,……….. , …………. 

Jump 10 steps backward: 

200, 190, 180,……….. ,………… ,…………. , …………. 

Continue the pattern: 

550, 560, 570,……… ,……….. , …………, …………….. 

910, 920, 930, 940, ……………, ……………… , …………. , …………. 

209, 207, 205, ……………… , ……………… , ……………… , …………… 

401, 402, 403 ,……………… , ……………… , ……………… , …………… 

1001, 1004, 1007, ………….., ……………. , …………….. , ………….. 

6012 ,6015 , 6018 , ……….. , …………… , ……………., …………….. 

2500 , 2505, 2510 , ……………. , 2520 , ……………. , ……………. 

1020 , 1030 ,…………. , 1050 ,…………… , 1060 , ………………... 

2100 , 2200 , 2300 , …………… , ……………. , ……………………… 

8000 , 7900 , 7800 , ………….. , …………….. , ……………………. 

4900 , 4850 , 4800 ,……………. , ……………. , …………………….. 

 

 



Lazy Crazy also has a crazy way of taking money. He takes only in    notes, 

    notes and     coins. Now find out how they will pay him for 

what they have taken.  

Rs 420 

Rs 143 

Rs 242 

Rs   55 

Rs. 660 

Rs. 905 

Rs. 879 

 

Who am I? Match with the number. 

a) I come between 40 and 50 and there is a 5 in my name.    96 

b) I have 9 in my name and am very close to 90.     150 

c) If you hit a 4 after me, you score a century.     45 

d) I am equal to ten notes of 10.       89 

e) I am century + half century        87 

f) I am exactly in between 77 and 97.       100 

.Counting in 10's 

10  110  310  710  910 

20  ……..  …….  720  ……. 



 30  ………  ……..  …….  920 

  40   140  340  ……..  ……. 

50  …….  ……..  ………  ……… 

 60  160  ………  ……….  960 

70  …….  370  ……….  ……… 

80  ……..  ………  780  ………. 

90  ……..  ………  ……..  990 

100  ………  ………  ………  ……… 

.Counting in 50's 

250  550  850  1150 

300  …….  …….  ……… 

350  ……..  950  1250 

400  ……..  ………  1300 

450  ……..  1050  1350 

500  ……..  1100  ………. 

Write number name and expanded form for following numbers: 

1099 ………………………………………………………… 

3489 …………………………………………………………. 

6013 ………………………………………………………… 

7100 ………………………………………………………… 

1111 …………………………………………………………...s 


